|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)
£ % &S T 44 i &S

HE H H 434 2 PEART T H 4 5
HE 437 2 PEART T H 4 5
&R B 1440 1 PEART —TH 3 4
HE # 441 1 PEART — T H 3 1
HE # 441 1 PEART — T H 3 2
HE 441 4 PEART T H 3 4
AT B 1442 2 PEART —TH 1 1
J\ 1k B F1495 1 VAR T H 2 1
J\ 1k w F1495 5 VAR T H 1 1
J\I H B 1495 6 1510552812 K0 TH IR

J\ I H B 1495 7 151055212 K0 TH IR

J\ 1k H #1495 8 VAT =T H 1 1
J\ I H B F1 495 9 151055212 K0 H IR

J\ I H B F1 495 12 PEART T H 1 1
J\ I H H F1 496 2 1510552812 K0 TH IR

J\ 1k H #1496 5 VAT ZTH 2 1
J\ I H H F1 496 21 PEART T H 2 19
J\ I H H F1 496 23 PEART T H 2 2
J\ I H #1496 24 PEART T H 2 1
J\ I H #1496 26 151055212 K0T IR

J\ I H H F 496 29 PFEART — T H 1 1
J\ I H B F1 498 5 151055252 XTI

J\ I H B F1 498 14 151055252 XTI

J\ I H B F1 498 15 151055252 K0T

FELIN #H 507 2 VaAHRT T H 1 1
FELIN #H 507 8 VaAHRT T H 1 3
FELIN H 507 9 VaAHRT T H 1 2
PSYIn H 508 VAR —TH 5

PSYIn H 508 VAR —TH 6 1
ZELIN #H 508 PR =TH 10 2
ZELIN #H 508 PR =TH 10 3
PSYIN H 509 1 VEAHRT T H 1 3
PSYIN FH 510 1 VEAHRT T H 1 1
PSYIN FH 510 2 VEAHRT T H 1 1
ZELIN #HH510 3 15105522 KD TH IR

PSYIN FH511 1 VEAHRT T H 1 1
PSYIN FH511 2 VEAHRT T H 1 1
PSYIN FH511 3 VEAHRT T H 1 1
ZELIN 511 4 AR T H 1 1
ZELIN 511 5 AR T H 1 1
ZELIN 511 6 AR T H 1 1
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 i &S
PERIN #5511 7 1E1055R2 1 IZ KD TH I

FELIN 511 8 VAR T H 1 1
FELIN 511 9 VAR T H 1 1
FELIN 511 10 VAT T H 1 1
PERIN w511 11 L1055 2 HIZ KD TH I

FELIN 511 12 VAT T H 1 1
FELIN 512 2 VAR T H 1 1
FELIN H 512 3 1£1055R 252 KD TH IR

FELIN 513 2 VAR T H 2 15
YERIN w513 3 VAR T H 2 14
FELIN 513 4 VEAHRT T H 3 6
FELIN 513 5 VEART T H 3 6
FELIN 513 6 VEAHRT T H 2 13
FELIN 513 7 151055R 252 LD TH IR

FELIN 513 8 151055R 252 LD TH IR

FELIN 513 9 15:1055R 252 LD TH IR

FELIN 513 10 151055R 252 LD TH IR

FELIN 513 11 VaAHRT T H 1 1
FELIN 514 1 VEART T H 1 1
FELIN 514 2 VEART T H 1 1
FELIN 514 4 VaAHRT T H 1 1
FELIN 514 5 VaAHRT T H 1 1
PSYIn FH 514 6 VAR —TH 2 16
PSYIn FH 514 6 VAR —TH 2 17
FELIN 514 7 VaAHRT T H 1 1
FELIN 514 8 VaAHRT T H 1 2
FELIN 514 9 VaAHRT T H 1 1
FELIN HH515 1 VaAHRT T H 1 1
FELIN HH515 2 VaAHRT T H 1 1
PSYIN F 515 3 VEAHRT T H 1 1
PSYIN F 515 4 VEAHRT T H 1 2
PSYIN FH 516 1 VEAHRT T H 3 5
PSYIN FH 516 2 VEAHRT T H 1 1
PSYIN FH 516 3 VEAHRT T H 3 5
PSYIN FH 516 4 VEAHRT T H 1 2
PSYIN FH 516 5 15105522 KD TH IR

PSYIN FH 516 6 15105522 KD TH IR

PERIN 517 1 PEAHT T H 2 6
PEXIN 517 1 PEAHT T H 2 7
ZELIN BH517 2 PEARET T H 4 14
ZEEIN BH517 3 PEARET T H 4 12
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

&} E4l)

£ % &S T 44 % &S
PERIN 517 4 1E1055R2 1 IZ KD TH I

FEYIN 517 5 VAR T H 1 1
FEYIN 517 7 VAR T H 2 5
YERIN w517 8 VAT T H 4 15
FEYIN 517 11 VAR T H 1 1
FEYIN 517 12 VAT T H 1 1
YERIN w517 13 VAR T H 4 15
FEYIN 517 14 VAR T H 1 1
FEYIN 517 15 VAR T H 1 1
FEYIN 517 16 VAR T H 4 8
FEYIN 517 17 VEAHRT T H 4 8
FEYIA 517 18 VEART T H 4 8
FEYIN 517 19 VEAHRT T H 4 8
FEYIA 517 20 VEAHRT T H 4 8
FEYIA 517 21 VaAHRT T H 4 8
FEYIN 517 22 VaAHRT T H 1 1
FEYIN 517 23 VaAHRT T H 4 8
T HH518 1 AR T H 4 2
T HH518 1 AR T H 4 3
T HH518 3 AR T H 4 1
HE #H 518 3 PEAHET — T H 4 4
HE #H 518 3 PEAHET — T H 4 6
HE HH518 12 1510552 IZ D TH I

HE HH519 1 AR T H 9 4
HE HH519 2 AR T H 9 3
RE HH519 4 PEAET —TH 9 22
RE HH519 8 PEAET —TH 9 22
RE HH519 9 PEAET —TH 9 22
HE HH519 13 15105522 IZ D TH I

HT H H 520 1 TEAET T H 9 5
HT H H 520 1 TEAET T H 9 6
HT H H 520 1 TEAET T H 11 1
FeN i F 520 2 VAR —TH 9 22
FeN i F 520 3 1510552 IZ ZD TH I

FeN H 521 VAR —TH 11 2
FeN i F522 1 VAR —TH 9 4
FeN i F522 2 VAR —TH 11 3
FeN i F522 VAR —TH 9 3
& H 1522 T PEART T H 9 22
HE B 522 1 PEART T H 9 3
HE HH523 PEART T H 9 22




|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

& Hr

R i3 &S T 4, 13 ES
HE # H 524 1 AR —TH 9 9
&R 524 2 PEART T H 9 16
&R H H 524 3 PEAET T H 9 8
7o o # H 524 4 PEART — T H 9 12
7o o # H 524 4 PEART — T H 9 14
7o o # H 524 4 PEART — T H 9 18
7o o # H 524 5 PEART — T H 9 7
7o o # H 524 5 PEART — T H 9 10
7o o # H 524 5 PEART — T H 9 17
7o o # H 524 5 PEART — T H 9 19
HRE H H524 8 AR —TH 9 13
HRE H H524 9 1E1055:25HIZ LD TH IR

HRE 524 10 1E1055:25HIZ LD TH IR

HRE 524 11 AR —TH 9 13
HRE H 524 12 AR —TH 9 11
HRE H 524 13 AR —TH 9 11
HRE H 524 14 AR —TH 9 11
HE H 524 15 AR —TH 9 11
HRE H 1525 1 AR —TH 6 10
HRE H 1525 2 AR —TH 6 11
RE B 1525 3 AR T H 6 4
RE B 1525 4 AR T H 6 5
RE H 1525 7 PEAET —TH 6 16
RE H 1525 8 PEAET —TH 6 13
RE H 1525 9 PEAET —TH 6 16
RE B 1525 10 PEAET —TH 6 18
RE B 1525 11 PEAET —TH 6 20
RE B 1525 12 PEAET —TH 6 17
RE B 1525 13 PEAET —TH 9 30
FeN i F525 14 VAR —TH 6 19
FeN i F525 15 VAR —TH 6 14
FeN i F525 16 VAR —TH 6 12
FeN i F525 17 AR —TH 6 9
FeN i F525 18 AR —TH 6 6
FeN i F525 19 AR —TH 6 3
FeN i F525 20 VAR —TH 6 21
FeN i F525 21 VAR —TH 6 21
FeN i F525 22 AR —TH 6 5
& HH 525 23 PEART T H 6 20
& HH 525 24 PEART T H 6 21
&R HH 525 25 PEAET T H 6 8
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 i ES
HE H 525 = PEART T H 2 13
J\ 1k H 1526 1 VAR T H 2 21
J\i% H #1526 2 1510552812 K0 TH IR
J\ 1k w527 VAT T H 2 21
J\i% H 1528 1 PEART —TH 2 4
J\i%E H B 1528 2 1510552812 K0 TH IR
J\ 1k 5 F1528 3 VAR T H 2 19
J\i% H B 1528 4 PEART —TH 2 2
TN #1589 8 VAR T H 1 1
TN #1589 9 VAR T H 1 1
TR B 1592 1 PEART T H 2 1
TR B 1592 2 PEART T H 1 1
TR B 1592 3 PEART T H 2 19
TR B 1592 4 PEART T H 1 1
TR B 1592 7 PEART T H 1 1
TR B F1593 4 PEART T H 2 2
TR #1594 2 PEART="TH 3 1
TR B 1595 PEART T H 2 21
TR #1596 1 PEART="TH 3 1
TR #1596 2 151055212 K0T IR
TR B H 597 2 151055252 XTI
TR B H 597 5 FEART =TH 3 1
TR B F599 1 FEART =TH 3 2
TR B F599 2 151055252 K0T
TR B F599 4 FEART =TH 2 2
TR B F599 8 FEART =TH 2 2
TR H F 600 FEART =TH 2 2
TR H 601 10 FEART =TH 2 2
TR H F 608 4 FEART =TH 2 1
TR #HH610 1 FEART =TH 2 3
TR BH610 2 15105522 KD TH IR
TR 611 FEART =TH 4 22
TR 612 FEART =TH 4 22
TR HH613 1 FEART =TH 2 2
TR HH613 2 FEART =TH 3 1
TR B HI613 3 15105522 KD TH IR
TR HH613 4 FEART =TH 3 1
TR HH614 1 FEART =TH 4 22
TN BH614 2 PEARRT =TH 4 2
TN BH614 3 15105522 KD TH I
TN BH614 4 PEARET T H 1 1
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 i ES
TN #HH614 5 PEAKRT =TH 4 17
TN w614 6 VAR T H 1 1
TN w614 7 AT =TH 4 19
TN w614 8 AT =TH 4 16
TN w614 9 AT =TH 4 19
TN w614 10 AT =TH 4 17
TN w614 12 AT =TH 4 17
TN 615 1 AT =TH 4 21
TR H 615 3 15105525812 K0 TH I

TR H 615 4 15105525812 K0 TH I

TR HH616 2 PEART=TH 4 21
TR HH616 3 151055212 K0T

TR HH616 4 151055212 K0 H IR

TR HH616 5 1510552812 K0 TH IR

TR H 618 1 PEART="TH 4 1
TR H 618 2 PEART T H 1 1
TR H 618 3 PEART="TH 4 17
TR #1620 PEART="TH 4 3
TR H 621 PEART="TH 3 1
TR H 622 PEART="TH 4 3
TR H 623 1 FEART =TH 3 4
TR H 623 2 FEART =TH 4 1
TR B 623 3 FEART =TH 4 1
TR B 624 1 FEART =TH 4 1
TR B 624 2 FEART =TH 3 4
TR B H 625 FEART =TH 3 3
TR H 626 FEART =TH 3 3
TR H 627 1 FEART =TH 3 3
TR H 627 2 FEART =TH 3 5
TR #1628 FEART =TH 3 6
TR #1629 1 FEART =TH 3 6
TR #1629 2 FEART =TH 5 1
TR #1629 3 FEART =TH 3 5
TR #HH630 FEART =TH 3 3
TR #H 631 FEART =TH 4 1
TR #1632 1 FEART =TH 3 4
TR #1632 2 FEART =TH 3 6
TR #1632 3 FEART =TH 3 5
TN 633 FEAR =T H 3 5
TN 634 1 PEAR T H 10 1
TN B H634 2 PEARRT =TH 3 5
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)
£ % &S T 44 % ES
TR #HH635 PEAHT =T H 3 6
TR HH636 PEART=TH 3 6
TN w637 1 AT =TH 3 5
TN w637 2 VAT T H 10 1
TN # 637 3 AT =TH 3 4
TR 1638 PEART =TH 4 7
TR 1639 PEART=TH 6 5
TR 1639 T PEART=TH 4 8
TR 1640 PEART=TH 6 8
TR 641 PEART=TH 6 8
TR B 642 PEART=TH 6 5
TR 643 PEART="TH 5 1
TR H 644 PEART T H 9 30
TR #1645 1 PEART T H 10 1
TR #1645 2 PEART T H 9 30
TR H 646 PEART T H 10 2
TR B 647 PEART T H 10 3
TR B 1648 PEART T H 9 28
TR #1649 PEART="TH 5 1
TR H 650 1 PEART T H 10 1
TR H F 650 2 PFEART — T H 10 2
TR #H 651 1 FEART T H 9 25
TR #H 651 1 FEART T H 9 29
TR B 651 2 PFEART T H 9 24
TR B 651 3 PFEART T H 10 4
TR B 651 4 PFEART T H 9 27
TR B 651 5 PFEART — T H 9 26
TR B F 652 PFEART — T H 9 24
TR B F653 1 PFEART T H 10 4
TR #1653 2 FEART T H 12 2
TR # F654 FEART =TH 6 10
TR #H F655 1 FEART T H 12 1
TR #1655 2 FEART T H 10 5
TR # F656 FEART T H 12 3
TR #H 657 FEART T H 12 7
TR # F1658 1 FEART T H 13 2
TR # F1658 2 FEART T H 13 5
TR # F1658 3 FEART T H 12 4
TN # F 659 1 PEAR T H 13 3
TN # F 659 2 PEAR T H 13 4
TN #H F 660 1 PEAR T H 13 2
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5]

£ % &S T 44 % ES
TN #1660 2 PEARRT —TH 13 2
TR H 660 6 1510552812 K0 TH IR
TR H 660 7 1510552812 K0 TH IR
TR H 660 8 15105525812 K0 TH IR
TN #1665 2 VAR T H 1 1
TR #1665 8 1510552812 K0 TH IR
TN # F1666 1 VAR T H 1 1
TR H 666 2 151055281 Z K0 TH IR
TR H 666 4 1510552812 K0 TH IR
TR 667 1 PEART —TH 13 1
TR H 667 2 PEART T H 13 1
TR H 667 3 151055212 K0T
TR H 667 4 PEART T H 13 1
TR H 667 12 1510552812 K0 TH IR
TR #1668 1 PEART T H 13 1
TR #1668 2 PEART T H 11 10
TR #1669 1 PEART T H 11 10
TR #1669 2 PEART T H 13 1
TR #1669 3 PEART T H 11 11
TR #1669 4 PEART T H 11 9
TR HH670 PFEART — T H 11 10
TR 671 PFEART T H 11 10
TR H 672 PFEART T H 13 1
TR H 673 1 PFEART T H 13 1
TR H 673 e PFEART T H 13 1
TR H 674 PFEART T H 13 1
TR H 675 1 PFEART — T H 11 4
TR 677 2 PFEART — T H 1 1
TR H 51 4 151055252 XTI
TR H .52 3 151055252 L0 TH A
TR H .64 1 FEART =TH 10 1
TR H .67 3 151055252 0 1H A
TR H .68 2 151055252 L0 1H A
TR H .69 1 FEART =TH 10 1
TR H .69 2 FEART =TH 4 19
TR H .69 3 151055252 0 1H I
TR H .69 6 FEART =TH 4 17
TR H .69 7 FEART =TH 4 16
TN # .69 8 PEARRT =TH 4 19
TN # .69 9 PEARRT =TH 4 17
TN # .69 11 PEARRT =TH 4 12
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 % &S
TR # 2,69 12 PEAHT =T H 4 12
TIE H 2,69 13 AT =TH 11
FE H 2,70 1 AT =TH 4
FIE H 2,70 1 AT =TH 11
TR #H 70 2 AT =TH 4 13
TR B 2,70 3 PEART =TH 11 5
TR #H 70 4 AT =TH 4 15
TR B 2,70 5 PEART=TH 14 1
TR H 2,70 6 PEART=TH 14 1
TR H 270 7 1510552812 K0 TH IR
TR H 270 8 PEART=TH 11 3
TR H .70 9 151055212 K0T
TR H .70 10 151055212 K0 H IR
TR H .70 11 1510552812 K0 TH IR
TR H .70 12 PEART="TH 11 4
TR H 270 13 PEART="TH 11 4
TR H 270 14 PEART="TH 11 4
TR H 270 15 PEART="TH 4 15
TR H .70 16 PEART="TH 11 1
TR H .70 18 PEART="TH 4 12
TR H 70 19 FEART =TH 4 12
TR HAOT1 1 FEART =TH 12
TR T2 FEART =TH 12
TR HT3 FEART =TH 12
TR HT4 1 FEART =TH 12
TR H .76 1 FEART =TH 12
TR H .76 2 FEART =TH 15 1
TR HATT 1 FEART =TH 12
TR HT9 1 FEART =TH 14 1
TR 79 3 151055252 L0 TH A
TN W19 4 PR =TH 14 4
TN W19 4 PR =TH 14 19
TR #H .81 1 FEART =TH 11 5
TR H .81 2 151055252 L0 TH A
TR #H .81 3 FEART =TH 5 9
TR #H .81 4 FEART T H 2 18
TR #H .81 5 FEART =TH 7 1
TR #H .81 6 FEART =TH 6 6
TN # 7,81 7 FEAR =T H 6 4
TN # .81 10 PEARRT =TH 5 3
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)
£ % &S T 44 i ES
A 5 .81 11 PAAHT =T H 4 8
TR mest | v | BT v
A 5 .81 13 VAHT =T H 4 14
A 5 .81 16 VAHT =T H 4 9
A 5 .81 17 VAHT =T H 6 4
A 5 .81 20 VAHT =T H 5 6
A 5 .81 21 VAHT =T H 5 6
A 5 .81 22 VAHT =T H 5 11
A 5 .81 25 VAHT =T H 6 4
A 5 .81 26 VEAHT =T H 7
TR 5 .81 27 P ARET =T H 7

N £, - AN ERVEE

i mest | o | S g
FE i .81 29 FEART =TH 5 4
FE i .81 30 FEART =TH 5 4
TR .81 31 PEART =T H 5 11
FJE i .81 32 FEART =TH 5 7
FE i 281 33 FEART =TH 5 7
FIJE i 281 35 FEART =TH 5 4
FE i .81 37 FART =TH 5 6
FE i .81 38 FART =TH 5 6
TR 481 39 AR =T H 4 10
TR 481 40 AR =T H 4 10
FE i .81 41 AR T H 1 1
TR H .82 AR =T H 5 13
TR H .83 AR =T H 5 13
TR H .84 AR =T H 4 3
TR # .85 AR =T H 4 3
TR H .86 AR =T H 5 13
TIN5 .87 1 AR =TH 5 13
TIN5 .87 2 AR =TH 4 10
TIN5 .87 4 AR =TH 4 10
TIN5 .88 2 AR =TH 4 8
TIN5 .88 5 AR =TH 4 9
TIN5 .88 6 AR =TH 4 5
TIN5 .88 7 AR =TH 5 7
TR H .89 2 PEART =T H 4 6
TN # .89 3 PEARRT =TH 6 2
TR H 2.90 PEART =T H 6 2

10/ 17




|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)
£ % &S T 44 i ES
TR #2291 1 PEAHT =T H 6 5
TR #2291 2 AT =TH 8 3
TR # 291 3 1510552812 K0 TH IR
TR H 291 5 PEART=TH 6 8
TR H 291 6 PEART=TH 8 6
TR #H .91 7 1510552812 K0 TH IR
TR #2291 9 AT =TH 6 1
TE H 291 11 AT =TH 6 1
TR #2291 13 AT =TH 16 15
TR # 2.94 2 AT =TH 14 18
TR #H .94 3 PEART=TH 6 2
TR #H .94 5 PEART="TH 16 15
TR # 2,95 1 PEART=TH 14 3
TR # 2,96 2 PEART="TH 14 18
TR # 2,96 3 1510552812 K0 TH IR
TR # 2,96 4 PEART="TH 14 3
TR H .97 PEART T H 1 1
TR # .98 PEART="TH 14 1
TR # 2,99 1 PEART="TH 12
TR 2,100 1 FEART=TH 14 14
TR B 2,100 1 FAART =TH 14 17
TR #2100 3 FEART =TH 14 16
TR #4101 1 AR =T H 8 1
TR H 2,101 2 151055252 K0T P&
TR #4101 3 AR =T H 7 3
TR H 2,101 4 FEART =TH 14 2
TR B 2,102 1 FEART =TH 14 6
TR B 2,102 2 151055252 K0T P&
TR B 2,102 3 FEART =TH 15 11
TR B 2,102 5 FEART =TH 14 12
TR B 2,102 6 FEART =TH 14 6
TR B 2,102 8 FEART =TH 15 13

1E9556TH IC L ETEE

PR HL102 9 %?@%iﬁgﬁﬁ@f
TR 2,102 10 AR =T H 15 19
TR 2,102 11 AR =T H 15 17
TR 2,102 12 AR =T H 15 15
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 i &S
R moe | 1| TR
TR #2102 14 AT =TH 14 15
TR #2102 15 AT =TH 14 10
TR #2102 16 AT =TH 14 8
A 52103 1 VAHT =T H 14 7
T 5,103 2 IE105 52 BHIC LD TH IR
TR smows |3 | TR
TR H 2,104 1 PEART=TH 14 18
TR H 2,104 2 PEART="TH 14 18
TR H 2,104 3 1510552812 K0 TH IR
TR H 2,104 4 PEART="TH 16 14
TR #2105 1 PEART="TH 15 1
TR #2105 2 PEART="TH 16 15
TR #2105 3 1510552812 K0 TH IR
TR B 2,105 4 FEART=TH 6 12
TR B 2,105 4 FAART =TH 6 17
TR B 2,105 4 FAART =TH 7
TR #2105 5 151055252 K0T
TR B 2,105 6 FEART =TH 14 3
TR B 2,105 7 151055252 K0T
TR # £.105 8 AR =T H 8 4
TR B 2,105 11 151055252 XTI
FE H 2,105 14 FART =TH 8 4
TR #2105 15 FEART =TH 6 15
TR B 2,105 16 FEART =TH 6 13
TR B 2,105 17 FEART =TH 6 13
TR B 2,105 18 FEART =TH 6 15
TN 2,105 19 PR =TH 6 14
TN 2,105 19 PR =TH 6 16
TR B 2,105 20 FEART =TH 15 2
TR # 2,106 2 FEART =TH 6 13
TR 2,106 3 15105522 KD TH IR
TR #2107 3 15105522 KD TH IR
TN i 2,107 4 FEAR =T H 6 8
TN £ 2,108 1 FEAR =T H 6 8
TN £ 2,108 2 FEAR =T H
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5] E4l)

£ % &S T 44 % &S
TR # 2,109 PFEART =TH 6 8
TR H 2,110 PEART=TH 6 8
TR H111 PEART=TH 6 8
TR H 112 1 PEART T H 10 2
TR H 112 2 PEART —TH 10 2
TR H 112 3 PEART T H 10 2
TR H 112 4 PEART —TH 10 2
TR H 112 5 PEART —TH 10 2
TR 113 1 AT =TH 6 10
TR H113 3 15105525812 K0 TH I

TR H114 PEART=TH 6 10
TR 115 1 FEART=TH 6 9
TR 115 1 FEART=TH 6 11
TR H115 2 PEART T H 10 1
TR H115 3 1510552812 K0 TH IR

TR H115 4 PEART T H 10 6
TR 116 3 151055212 K0T IR

TR 116 4 1510552812 K0 TH IR

TR HO117 1 PEART="TH 16 1
TR HO117 2 PEART="TH 16 14
TR W17 3 151055252 K0T P&

TR 118 3 FEART =TH 16 14
TR 118 4 151055252 K0T P&

TR 118 5 151055252 K0T P&

TR B 120 1 FEART =TH 9 8
TR B 120 4 151055252 K0T P&

TR B 120 5 151055252 K0T P&

TR B 120 7 FEART =TH 9 6
TR B 120 8 FEART =TH 9 5
TR #2120 9 FEART =TH 9 6
TR #2120 10 FEART =TH 9 9
TR 121 1 FEART T H 12 5
TR #2121 2 FEART =TH 6 10
TR B 2,122 2 FEART =TH 17 6
TR #1122 3 15105522 KD TH IR

TR B 2,122 4 FEART =TH 17 6
TN B 2,122 5 PR =TH 17 8
TN B 2,122 5 PR =TH 17 9
TR #2122 6 AR =TH 17 4
TR #2122 7 AR =TH 17 4
TR #2122 8 AR =TH 17 5
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5] B

£ % &S T 44 % &S
I B 2,122 9 PAART =TH 17 6
TR #2122 10 AT =TH 17 7
TR #2122 11 AT =TH 17 7
TR #2122 12 AT =TH 17 5
TR #2122 13 AT =TH 17 3
TR #4123 1 AT =TH 17 17
TR B 123 4 1510552812 K0 TH IR

TR B 123 5 151055281 Z K0 TH IR

TR 2,125 PEART =TH 16 2
TR 2,125 PEART =TH 16 3
TR B 2,125 FEART=TH 16 4
TR B .126 FEART="TH 15 5
TR B 127 FEART =T H 15 5
TR B 2,128 1 FEART =T H 15 5
TR B 2,128 2 FEART =T H 15 1
TR B 2,128 3 151055212 K0 TH IR

TR B 2,128 4 FEART="TH 15 4
TR B 2,128 5 FEART="TH 15 3
TR B .129 FEART="TH 15 5
TR #2130 FEART="TH 15 5
TR B 131 1 FEART =TH 16 14
TR B 131 2 FEART =TH 15 5
TR B £.132 1 FAART =TH 15 7
TR B £.132 1 FAART =TH 15 8
TR B £.132 1 FAART =TH 15 9
TR B £.132 1 FAART =TH 15 10
TR B 2,133 1 FAART =TH 15 6
TR B 133 1 FAART =TH 16 10
TR B 2,133 1 FAART =TH 16 11
TR B 2,133 1 PR =TH 16 12
TR B 2,133 1 PR =TH 16 13
TR #2134 PR =TH 16 14
TR B 2,135 1 PR =TH 17 16
TR B 2,135 1 PR =TH 17 18
TR B 2,135 1 PR =TH 17 19
TR B 2,135 1 PR =TH 17 20
TR # 2,136 1 PR =TH 16 6
TR # 2,136 1 PR =TH 16 7
TR # 2,136 1 FEARRT=TH 16 8
TR # 2,136 1 FEARRT=TH 16 9
TN 2,136 2 PEARRT =TH 17 13
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|8 A1 26 5 G 3 (P ASHT = b DX FE P = 58

5]

£ % &S T 44 i ES
TR H 2,136 3 PFEART =TH 16 5
TR # £.138 2 AT =TH 17 13
TR B 138 3 1510552812 K0 TH IR
TR B 139 2 15105525812 K0 TH IR
TR B £.140 3 1510552812 K0 TH IR
TR B 140 4 1510552812 K0 TH IR
TR H 4,140 5 AT =TH 17 13
T 141 PEART —TH 10 6
I JE #2142 VAR T H 10 6
I JE #2143 1 VAR T H 12 3
TR W 2,143 2 PEART T H 13 6
TR W 2,144 PEART T H 12 4
TR W 2,145 1 PEART T H 13 6
TR W 2,145 2 PEART T H 12 4
TR B 145 4 1510552812 K0 TH IR
TR T 2,146 1 PEART T H 13 6
TR T 2,146 2 PEART T H 13 6
TR H .146 4 1510552812 K0 TH IR
TR 2,150 1 PEART T H 1 1
TR 2,150 2 PEART T H 10 8
TR ] £.150 4 151055252 XTI
TE H 2,150 5 PFEART T H 13 6
TE H 151 1 PFEART T H 1 1
TR H 151 3 151055252 K0T
TE H £.165 1 FEART =TH 18 2
TE H £.165 5 FEART =TH 18 5
T H £.165 6 FEART =TH 18 5
TR H £.165 9 FEART =TH 17 21
TR H 2,165 10 FEART =TH 18 2
TR # .165 11 FEART =TH 17 22
TR # .166 1 FEART =TH 17 24
TR 2,166 2 15105522 KD TH IR
TR 2,166 3 15105522 KD TH IR
TR 2,166 4 15105522 KD TH IR
TR B .167 1 FEART =TH 17 24
TR B .167 2 FEART T H 10 8
TR #2167 3 15105522 KD TH IR
TR #2167 4 PEAET —TH 1 1
TN T 2,168 PEAR T H 12 4
TN ] 2,169 PEAR T H 10 6
TN B 2,170 1 PEAET T H 1 1
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5]

£ % &S T 44 % &S
TR H 2,170 2 AR —TH 10 9
TR H 2,170 4 PEART=TH 18 4
TR 170 5 1510552812 K0 TH IR

TR 170 6 15105525812 K0 TH IR

TR #4170 7 AT =TH 18 4
TR #4170 8 AT =TH 18 4
TR H2171 1 PEART=TH 18 4
TR 171 3 VAR T H 1 1
TR HA1T1 4 15105525812 K0 TH I

TR HA1T1 5 15105525812 K0 TH I

TR H1T1 6 PEART=TH 18 4
TR H172 1 PEART="TH 17 22
TR H172 2 PEART T H 10 6
TR H172 3 PEART T H 10 9
TR H172 4 1510552812 K0 TH IR

TR H172 5 PEART T H 10 6
TR H172 6 PEART="TH 18 2
TR H1T3 1 PEART="TH 17 13
TR H1T3 2 PEART="TH 18 2
TR H1T3 5 151055212 K0T IR

TR H1T3 7 FEART =TH 17 14
TR {173 8 FAART =TH 17 11
TR {173 8 FAART =TH 17 12
TR HA1T5 2 FEART =TH 18 2
TR HA1T5 3 PFEART T H 10 1
TR 176 1 FEART =TH 18 2
TR 176 2 FEART =TH 17 14
TR H £.180 3 FEART =TH 18 9
TR H £.180 4 FEART =TH 18 2
TR # 2,180 5 FEART =TH 18 15
TR # 2,180 6 FEART =TH 18 8
TR B 2,181 2 FEART =TH 18 7
TR #2181 3 FEART T H 10 2
TR #2181 4 FEART =TH 18 8
TR B 2,181 5 FEART T H 10 2
TN B 2,182 1 PR =TH 18 13
TN B 2,182 1 PR =TH 18 14
TR B £.182 3 FEART =TH 18 12
TN #2182 5 PEARRT =TH 18 12
TN 2,183 PEARRT =TH 17 15
TN 2,184 1 PEARRT =TH 17 15
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5] E4l)
£ % &S T4 i ES
TN # 2,185 1 PFEART =TH 18 10
TN # £.185 2 AT =TH 18 10
TN # £,185 4 AT =TH 18 10
TN # £,185 5 AT =TH 18 10
TR H £.186 1 PEART=TH 18 9
TR H .186 3 PEART=TH 18 8
TN H £.186 4 PEART=TH 18 8
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